E. A. lllupseBa (www.time4math.ru) Aarebpa 7-9 Kaacc

CHUCTEMbI YPABHEHUH 2-11 CTEIIEHHU

I) IlooncraHoBKa (cTaHmapTHAas)

{xQ +4xy+y*=-48,

II) TloacranoBka (PCY)
2_ .2
2) {x y?=160,

[1I) Teopema, obpaTHasa TeopeMe
Buera

Sx+y-12=0 x+y=10 3) {xy=10,
x?+4xy+y? =-48, (x-y)(x+y)=160, X+y=-7
= 5x+12 x+y=10 q=10, —p=-7, p=7

x?+4x(-5x+12)+(-5x+12)*=-48 (x-y)-10=160, )

) ) ) t*+7t+10=0
x“—-20x“+48x+25x*-120x+144=-48 x+y=10 5

, D=72-4-110=49-40=9>0
6x“—-72x+192=0 {x y=16, 744G T3
X% -12x+32=0 x+y=10 == =2
x, =8 x,=4 2x=26 _7-9 _-7-3_
mpu x=8 y=-5-8+12=-28 x=13 y=10-x=10-13=-3 &L~731 2 =
npu x=4 y=-5-4+12=-8 OtBet: (13,-3)

Orser: (8,-28), (4,-8)

OrBet: (—2,-95), (-5,-2)

IV) ®CY V) dpyrue npuMepbl y?+5=x,
4) {x2+y2=65, (x—3)(x-9)=0, xy?=14

xy=28 O 1 _y-4 _qy (y?+5)y> =14

x+ty-1 y*+5y%*-14=0
(x+y)? =x2+2xy +y> (x=3)(x-9)=0 t=y?>
(x+yP=65+2-28 o0 £2.45¢-14=0
(x+y) =121 = o t=-7 t,=2
_ x=3, x=9,

x+y==11 y2=-7 y?=2
x+y=11 x+y=-11 y=% 11 |-

Yy ) y ) x+y-1 x+y-1 KOpHEH HeT y=+2
xy=28 xy=28

mpu y=+J2 x=y>+5=2+5=7
Otser: (7,—2) u (7,\2)



